
 
 

 

Circular Directions Clock Test  
 

Instructions (Q1 – 10): Carefully observe the clock and its letters and answer the questions based on 

it as per the given direction. Every question consist of five options which are A, B, C, D and E. The total 

allotted time for solving 20 questions is 10 minutes. The test consist of two Watch Table and 10 

questions are based on each watch table, thus total of 20 questions in the test. Examinee has to rapidly 

answer in the allotted time and have to blacken the appropriate circle in the answer sheet. 

निर्देश (प्रश्न 1 – 10): घड़ी और उसके अक्षरों को ध्याि से र्देखें और दर्दए गए निर्देशों के अिुसार उस पर आधाररत प्रश्नों के 

उत्तर र्दें। प्रत्येक प्रश्न में पााँच निकल्प होते हैं जो A, B, C, D और E हैं। 20 प्रश्नों को हल करिे के नलए कुल आिंरित समय 10 

नमिि है। पऱीक्षण में र्दो िॉच िेबल होते हैं और प्रत्येक िॉच िेबल पर 10 प्रश्न आधाररत होते हैं, इस प्रकार पऱीक्षण में कुल 

20 प्रश्न होते हैं। पऱीक्षार्थी को आिंरित समय में तेज़ी से उत्तर र्देिा होता है और उत्तर पुनततका में उपयुक्त गोले को काला 

करिा होता है। 

 

 Q1.  What is the number in front of D2 and what is the cube of that number? 

C2 के सामिे िाल़ी संख्या क्या है और उस संख्या का घि क्या है? 

 (a) A 

 (b) B 

 (c) C 

 (d) D 

 (e) E 

 

Q2. Which number lies exactly opposite to C1 on the clock? 

घड़ी पर C1 के ठ़ीक निपऱीत कौि स़ी संख्या है? 

(a) A 

 (b) B 

 (c) C 

 (d) D 

 (e) E 
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Q3. Which number comes in the middle of north-east when F5 is replaced by C1 and G4 is replaced 
by D2? 

F5 को C1 से तर्था G4 को D2 से बर्दलिे पर उत्तर-पूिव के मध्य कौि स़ी संख्या आत़ी है? 

(a) A 
 (b) B 
 (c) C 
 (d) D 
 (e) E 
 
Q4. If E1 and C2 are swapped, what will be the new value in front of North? 

यदर्द E1 और C2 को बर्दल दर्दया जाए, तो उत्तर के सामिे िया माि क्या होगा? 

(a) A 
 (b) B 
 (c) C 
 (d) D 
 (e) E 
 
Q5. Make a triangle by joining C2 with G4 and F5. What is the highest value number in this triangle? 

C2 को G4 तर्था F5 से नमला कर एक निभुज बिाइये, इस निभुज मे सबसे अनधक माि िाल़ी संख्या क्या है? 

 (a) A 
 (b) B 
 (c) C 
 (d) D 
 (e) E 
 
Q6.  Starting from C2, move clockwise skipping one position each time. What is the third value you 

land on? 

C2 से शुरू करके, हर बार एक नतर्थनत छोडते हुए घड़ी की दर्दशा में आगे बढें। आप दकस त़ीसरे माि पर पहुाँचते हैं? 

 (a) A 
 (b) B 
 (c) C 
 (d) D 
 (e) E 
 
Q7. If all the values are rotated one step clockwise, what will be the new position of F5 and what will 

be the number opposite to it? 

यदर्द सभ़ी माि एक कर्दम र्दनक्षणाितव घूम जाएं, तो F5 की िई नतर्थनत क्या होग़ी तर्था उसके निपऱीत क्या संख्या 

होग़ी? 

 (a) A 
 (b) B 
 (c) C 
 (d) D 
 (e) E 
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Q8. Draw a quadrilateral using C1, F5 and D2, G4. Which number will be opposite to the number of 

the lowest value? 

C1, F5 और D2, G4 का उपयोग करके एक चतुभुवज बिाएं। इसमे सबसे कम माि की संख्या के निपऱीत कौि स़ी 

संख्या होग़ी ? 

(a) A 

 (b) B 

 (c) C 

 (d) D 

 (e) E 

 

Q9. Which value lies at North-East? What is the square of its numeric part? 

कौि सा माि उत्तर-पूिव में नतर्थत है? इसके संख्यात्मक भाग का िगव क्या है? 

 (a) A 

 (b) B 

 (c) C 

 (d) D 

 (e) E 

 

Q10. Exchange G4 with E2, and then reverse all the positions. What is now opposite to D4? 

G4 को E2 से बर्दलें, और दिर सभ़ी नतर्थनतयों को उलि र्दें। अब D4 के निपऱीत क्या है? 

 (a) A 

 (b) B 

 (c) C 

 (d) D 

 (e) E 
 
 

Solutions 
 
S1. Ans.(a) 
Sol. The correct answer is: (A) 1 
The number in front of C2 is E1 and the cube of that number will be 1. 

सह़ी उत्तर है: (A) 1  

C2 के सामिे िाल़ी संख्या E1 है और उस संख्या का घि 1 होगा।  

 
S2. Ans.(d) 
Sol. The correct answer is: (D) 4 
The number exactly opposite to C1 on the clock is G4. 

सह़ी उत्तर है: (D) 4 

घड़ी पर C1 के ठ़ीक निपऱीत संख्या G4 है।  
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S3. Ans.(d) 

Sol. The correct answer is: (D) 4 

Replacing F5 with C1 and G4 with D2 gives number 4 (G4) in the middle of north-east. 

सह़ी उत्तर है: (D) 4 

F5 के तर्थाि पर C1 तर्था G4 के तर्थाि पर D2 रखिे पर उत्तर-पूिव के मध्य में संख्या 4 (G4) प्राप्त होत़ी है। 

 

S4. Ans.(a) 

Sol. The correct answer is: (A) 1 

If E1 and C2 are interchanged, the new value in front of the north will be E1. 

सह़ी उत्तर है: (A) 1 

यदर्द E1 और C2 को बर्दल दर्दया जाए, तो उत्तर के सामिे िया माि E1 होगा।  

 

S5. Ans.(e) 

Sol. The correct answer is: (E) 5 

Make a triangle by joining C2 with G4 and F5, the number with the highest value in this triangle will 

be F5. 

सह़ी उत्तर है: (E) 5 

C2 को G4 तर्था F5 से नमला कर एक निभुज बिाइये, इस निभुज मे सबसे अनधक माि िाल़ी संख्या F5 होग़ी।  

 
 

S6. Ans.(b) 

Sol. The correct answer is: (B) 2 

Starting from C2, moving clockwise skipping one position each time, the third value will be E2. 

सह़ी उत्तर है: (B) 2 

C2 से शुरू करके, हर बार एक नतर्थनत छोडते हुए घड़ी की दर्दशा में आगे बढिे पर त़ीसरा माि E2 होगा।  

 

S7. Ans.(b) 

Sol. The correct answer is: (B) 2 

If all the values are rotated one step clockwise, the new position of F5 will be in the west direction and 

the number opposite to it will be D2. 
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सह़ी उत्तर है: (B) 2 

यदर्द सभ़ी माि एक कर्दम र्दनक्षणाितव घमू जाएं, तो F5 की िई नतर्थनत पनिम दर्दशा मे होग़ी तर्था उसके निपऱीत संख्या 

D2 होग़ी।  

 
S8. Ans.(d) 
Sol. The correct answer is: (D) 4 
Make a quadrilateral using C1, F5 and D2, G4. The number with the lowest value will be G4 opposite to 
C1. 

सह़ी उत्तर है: (D) 4 

C1, F5 और D2, G4 का उपयोग करके एक चतुभुवज बिाएं। इसम ेसबसे कम माि की संख्या C1 के निपऱीत संख्या 

G4 होग़ी। 

  
 
S9. Ans.(d) 
Sol. The correct answer is: (D) 4 
Here number D2 is located in the north-east, the square of its numerical part will be 4. 

सह़ी उत्तर है: (D) 4 

यहााँ उत्तर-पूिव में संख्या D2 नतर्थत है, इसके संख्यात्मक भाग का िगव 4 होगा।  

 
S10. Ans.(d) 
Sol. The correct answer is: (D) 4 
Replacing G4 with E2, and then reversing all the positions, the opposite number to D4 will be G4. 
सही उत्तर है: (D) 4 

G4 को E2 से बदलने, तथा फिर सभी फथथफतयों को उलट देन ेपर D4 के फिपरीत संख्या G4 होगी।  
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